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Experiment on a Magnetic Field




Force Lines of a Magnetic Field
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Force Lines of a Magnetic Field




[Law of Biot and Savart
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Principle of Superposition
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Magnetic Field along Axis of a
Loop with Current
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Magnetic Field 1in a Centre of a
Loop with Current
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Magnetic Field due to a Current
Through a Long Straight Wire
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Magnetic Field due to a Current
Through a Long Straight Wire
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Ampere’s Circulation Law
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" Circulation of the magnetic field

intensity round the closed loop 1s equal
to the current enclosed by this loop.



Intensity of the Magnetic Field
Outside a Straight Wire
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Intensity of the Magnetic Field
Inside a Straight Wire




Solenoid
L Hdl=> 1, -> 1, =0 -no field outside the solenoid
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